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Calculus Practice: Derivatives of Functions la

For each problem, find the derivative of the function at the given value.

1) f(x):)(72+3x+Z at x=-1 2) f(x):—%z—x+%atx=—5
A) f1(-1)=-1 A) f'(-5)=4
B) f'(-1)=-2 B) f'(-5)=-3
C) f'(-1)=2 C) f'(-5)=-7
D) f'(-1)=1 D) f'(-5)=-5
3) f(x)=—x+4x>-6 atx=3 4) f(x)=x>+7x*+15x+9 atx=-2
A) f'(3)=-3 B) f'(3)=-28 A) f'(=2)=20
C) f'(3)=4 D) f'(3)=-35 B) f'(-2)=160
C) f'(-2)=-1
D) f'(-2)=4
2
5) f(x)=- o Atx=—4 6) f(x)=— XX+4 at X = 2
. 1 3
A) f'(-4)=—— (=2)=——
) Fl4)=— A) f(=2)=-—
(g)e S , 15
B) f'(-4)= 128 B) f(—2):—a
. 4 6
C) f'(-4)=-—= D) =——
) f'(-4) 5 C) f'(-2) >
(g)— 12 D) f'(-2)=0
D) f'(-4)= >
2 1
7) f(x):(x+4)3 atx=4 8) f( ):—(—x+1)2 at x =—1
A) f'(4)=—§ A) f'(—l)=g
(. 36 o
B) f(4)=T B) f(—1)=Z
(g L ()L
C)f(4)_3 C) f'(-1) 5
D) f'(4)=§ D) f-(_1)=$
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9) f(x)=-(2x+8)* atx=-2
w 1= 2
B) f'(—2)=—%
C) f'(—2)=—%
D) f(-2)=—=

11) f(x)=e*"* atx=-3
A) fr(3)=1
(]

, 1

0 f'(-3)==

D

13) f(x)=¢*"’ atx=1

A) f'(1)=ei2

C) f'(1)=e D) f'(1

15) f(x) = 2csc (X) at XZ—%T

A) f'—%ﬂ =43
I

6
) f'—%‘ —2\2
D) f'—%“ =22

17) f(x)=2tan (x) at XZ—%

A -T2

6] 3

B) f'[-2|=4
6

o f'[-Z)=0
6
7T

D) f'[-Z)=2
) 6

B) f'(-3)

D) f'(-3)

B) f'(1)=¢?

)=—
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10) f(x)=(4x+ 12)5 at X =4

A) f'(4)=% B) f'(4):£
C) f'(4)=% D) f'(4)=1
12) f(x)=—In(x+2) atx=—1
, 1

A) f (—1):—5

B) f'(-1)=1

C) f'(-1)=-1

D) f'(-1)=-3

14) f(x)=—In(-x+1) atx=-3

A) f'(—3)=% B) f'(—3)=%
C) f'(-3)=-2 D) f'(-3)=1

16) f(x) = CSC (ZX) at X = —2?%

A) f'l-=5|==2
) 3

B +{-2)-0
3

o r[-2)

3) 3

D) (-2 =i
3

18) f(x) = cot (x) atXZ%

A) f'(§)=3 B) f'(

) f'(%):—z D) f'(
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For each problem, find the derivative of the function at the given value.

1) f(x):)(72+3x+Z at x=-1 2) f(x):—X?—x+— at X =-5
A) f1(-1)=-1 “A) f'(-5)=4
B) f'(-1)=-2 B) f'(-5)=-3
*C) f'(-1)=2 C) f'(-5)=-7
D) f'(-1)=1 D) f'(-5)=-5
3) f(x)=—x+4x>-6 atx=3 4) f(x)=x>+7x*+15x+9 atx=-2
*A) £'(3)=-3 B) f'(3)=-28 A) f'(=2)=20
C) f'(3)=4 D) f'(3)=-35 B) f'(-2)=160
*C) f'(-2)=-1
D) f'(-2)=4

—4
“A) Fred) =1
A) f'(-4)= 5
(g) = 2
B) f'(-4)= e
(a)=_ 2
C) f'(-4)= 5
(4) =12
D) f'(-4)=-C
2
7) f(x):(x+4)3 atx=4
A) f'(4)=—§
3
B) f'(4)=ﬁ
9
s0) f1(4) = L
C) f(4)_3
(4) = 2
D) f'(4)=2
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6) f(x)=- XX+4 at X = 2
A) f'(—2)=—13—6

B) f'(—z)z—é—i

C) f'(—2)=—%

*D) £'(-2)=0

A) f'(—l):%
B) f(-1)=
0) £-1)=
“D) f'(—1)=$
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9) f(x)=-(2x+8)* atx=-2

w 1= 2
B) f'(—2)=—%
C) f'(—2)=—%
D) 11(-2) =

11) f(x)=e*"* atx=-3
) 1(3)=1
(]

, 1

0 f'(-3)==

D

13) f(x)=¢*"’ atx=1

) Pl

C) f'(1)=e D) f'(1

15) f(x) = 2csc (X) at XZ—%T

*A) f'—%ﬂ =43
B) - 2%|=0

6
) f'—%‘ —2\2
D) f'—%“ =22

17) f(x)=2tan (x) at XZ—%

*A) f'_E :§

6) 3

B) f'|-=|=4
6

o) '[-=]=0
6
T

D) f'[-Z|=2
A
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B) f'(-3)

D) f'(-3)

B) f'(1)=¢?

)=—

10) f(x)=(4x+12)5 at X =4
A) f'(4)= *B) '(4)=

C) f'(4)= D) f'(4)=1

12) f(x)=—In(x+2) atx=—1
, 1
A) f (—1):—5
B) f'(-1)=1
*C) f'(-1)=-1
D) f'(-1)=-3
14) f(x)=—In(-x+1) atx=-3
A) f(—3)=% “B) f'(-3)
C) f'(-3)=-2 D) f'(-3)

A) f'l-=5|==2
) 3

B +{-2)-0
3

)t 2

3) 3

D) (-2 =i
3

18) f(x) = cot (x) atXZ%
e '
A) f (4)—3 B) f (
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